JE/C&W-Answer Key
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Correct

Question |[Question |Question |Parent Option(s)/
SrNo. |Id Type Label Question Id Options |Answer
42 42|McQ 42 4|c
43 43|MCQ 43 4|A
44 44|MCQ 44 4|B
45 45|MCQ 45 4|B
46 46|MCQ 46 4|A
47 47|MCQ 47 4|A
48 48|MCQ 48 4|c
49 49|MCQ 49 4|A
50 50(McQ 50 4|c
51 51{McQ 51 4|A
52 52(mMcQ 52 4|B
53 53[McQ 53 4|c
54 54|MCQ 54 4|B
55 55[McQ 55 4|c
56 56|MCQ 56 4|B
57 57[mMcQ 57 4|B
58 58[McQ 58 4|B
59 59(McQ 59 4|A
60 60[MCQ 60 4|B
61 61{McQ 61 4|D
62 62(McQ 62 4|B
63 63[McQ 63 4|A
64 64|MCQ 64 4|A
65 65(MCQ 65 4|c
66 66/MCQ 66 4|A
67 67(McQ 67 4|A
68 68[MCQ 68 4|B
69 69[McQ 69 4|B
70 70{McQ 70 4|c
71 71{McQ 71 4|c
72 72(MCQ 72 4|B
73 73[McQ 73 4|A
74 74|MCQ 74 4|c
75 75[McQ 75 4|A
76 76|MCQ 76 4|D
77 77(McQ 77 4|c
78 78|McCQ 78 4|A
79 79[mMcQ 79 4|c
80 go[mcQ 80 4|A
81 g1{mcQ 81 4|A
82 82(mMcQ 82 4|B
83 83[mcQ 83 4|D
84 84|mMcQ 84 4|A
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Correct
Question |[Question |Question |Parent Option(s)/
SrNo. |Id Type Label Question Id Options |Answer
85 85[McQ 85 4|c
86 86|MCQ 86 4|B
87 87[mMcQ 87 4|B
88 88[mcQ 88 4|B
89 89[mcQ 89 4|A
90 90(mMcQ 90 4|A
91 91{mMcCQ 91 4|A
92 92(mMcQ 92 4|c
93 93(MCQ 93 4|D
94 94(mMcQ 94 4|B
95 95(MCQ 95 4|A
9 96(MCQ 96 4|A
97 97(mMcQ 97 4|c
98 98[mMcQ 98 4|A
99 99[mMcQ 99 4|c
100 100|MCQ 100 4|A
101 101|MCQ 101 4|B
102 102|MCQ 102 4|B
103 103|MCQ 103 4|A
104 104|MCQ 104 4|c
105 105|MCQ 105 4|D
106 106|MCQ 106 4|c
107 107|MCQ 107 4|B
108 108|MCQ 108 4|B
109 109|MCQ 109 4|c
110 110|MCQ 110 4|B
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